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 : (1)       . 
  (2)     (a)  (b)     .   . 
  (3)     . 
 

1. (A)    (TQM)   .   . 14 

  (1)     
  (2)     
      
  (1)     . 7 

  (2)  .    7 

 (B)  . (A, B, C, D          
.) ( 4)    4 

  (1)   ______     . 
   (A)   (B)   

   (C)    (D)    

  (2)    ______     . 
   (A)    (B)   

   (C)    (D)  

  (3)    ______   . 
   (A)    (B)   
   (C)   (D)    

  (4)      ______   . 
   (A)    (B)    

   (C)   (D)   

  (5)    (ISO)   ______ . 
   (A)   (B)  

   (C)   (D)  

  (6)   ______   . 
   (A)    (B)    
   (C)    (D)    



MB-113 2  

2. (A)        .  . 14 

  (1)     
  (2)     

     
  (1)    .      . 7 

  (2)       (7)    . 7 

 
 (B)  . (A, B, C, D          

.) ( 4)    4 

  (1)          ______  . 
   (A)    (B)  
   (C)    (D)  
 

  (2) _____       . 
   (A)   (B)  

   (C)   (D)   

  (3) _____      . 
   (A)   (B)   

   (C)    (D)   

  (4)  ‘’ _____     . 
   (A)    (B)  

   (C)   (D)  

  (5)  ( )   _____   . 
   (A)    (B)   

   (C)   (D)   
  (6)      _____ . 
   (A)       
   (B)       
   (C)       
   (D)       
 

3. (A)   .    (2)     : 14 

  (1)    X   Y 

  (2)  Z 

  (3)    
     
  (1)    .   7 

  (2)     (7)   . 7 
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 (B)   . (A, B, C, D          
.) ( 3)    3 

  (1)     _____     . 
   (A)   (B) (A)  (B)  
   (C)   (D)    
  (2)     _____    . 
   (A)    (B)  
   (C)  () (D)   
  (3)    _____   . 
   (A)   (B)   
   (C)    (D)   
  (4)     ,   ______    . 
   (A) ..  (B)  

   (C)     (D)   

  (5)    _____   . 
   (A)    (B)  X   Y 

   (C)    (D)     
 

4. (A)           . 14 

                          
  (1)     . 7 

  (2)       . 7 
 

 (B)  . (A, B, C, D          
.) ( 3)    3 

  (1) DSS  _____. 
   (A) Directive Structured Standards (B) Dual Standard Status 
   (C) Descriptive Startup Style (D) Decision Support Systems 
  (2)  _____   . 
   (A)   (B) (A)  (B)  
   (C)    (D)     
  (3)   _____  . 
   (A)   (B) -  
   (C)    (D)   

  (4) EIS  _____. 
   (A) Executive Information System  (B) Excel Innovation Style 
   (C) Extra Information System (D) Exchange Information Structure 
  (5)     _____ . 
   (A) 1-2   (B) 2-4  
   (C) 4-5   (D) 5-10  

_________ 
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Seat No. :  _______________
  

MB-113 
March-2019 

M.Com., Sem.-I (Repeater) 
402 : Business Management 

(New Course) 
Time : 2:30 Hours]  [Max. Marks : 70 
  

Instructions : (1) Figures to the right indicate marks of the question. 
   (2) Write answers in an order of sub-set a and b. Do not change the 

sequence. 
   (3) All questions are compulsory.  
 
1. (A) Define Total Quality Management (TQM ). Discuss in detail 14 
  (1) Process of TQM and 
  (2) Principles of TQM 
     OR 
  (1) Explain Fayol’s Principles of Scientific Management. 7 
  (2) Write in details Mintzberg’s Managerial Roles. 7 
 
 (B) Multiple Choice Questions.  (Select suitable options from A, B, C, D as your 

answer and attempt in serial order) (any 4). 4 
  (1) Disseminator role is defined by ______. 
   (A) Mintzberg  (B) Henry Fayol 
   (C) George Terry (D) All of the above 
  (2) Concept of Scientific Management was introduced by ______ 
   (A) Frederick Taylor (B) James Watt 
   (C) Charles Babbage (D) Chanakya 
  (3) Empirical Approach is study of ______. 
   (A) Human Behaviour (B) Historical Experiences 
   (C) Operational Efficiency (D) Demographical Study 
  (4) Concept of Time and Motion Study is component of ______. 
   (A) Social System Approach 
   (B) Scientific Management Approach 
   (C) Empirical Approach 
   (D) Contingency Approach 
  (5) Headquarters of International Standards Organization (ISO) is at ______. 
   (A) Austria  (B) Thailand 
   (C) Geneva  (D) China 
 

  (6) Scalar Chain is link of ______. 
   (A) Power and Work 
   (B) Leader and Team 
   (C) Authority and Responsibility 
   (D) None of the above 
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2. (A) Define term Decision Making and Decision Making Techniques. Explain in  
detail :      14 

  (1) Traditional Decision Making Technique. 
  (2) Modern Decision Making Technique. 
                                                 OR 
  (1) Explain term Strategic Management. Discuss guidelines for Strategy 

Implementation.    7 
  (2) Define term Organization and state any seven (7) principles of organization. 7 

OR 
 (B) Multiple Choice Questions (Select suitable options from A, B, C, D as your 

answer and attempt in serial order) (any 4). 4 
  (1) Defining and Clarifying the problem is _____ stage of Decision Making. 
   (A) Second  (B) First 
   (C) Third   (D) Fourth 
 

  (2) _____ Decision Making influences large number of employees. 
   (A) Personal  (B) Organizational 
   (C) Programmed (D) Non Programmed 
  (3) _____ is the component of Traditional Decision Making Technique. 
   (A) Intuition  (B) Decision Tree 
   (C) Monte Carlo Method (D) Linear Programming 
  (4) Word Strategy is derived from _____ word. 
   (A) Greek  (B) Japanese 
   (C) Spanish  (D) Latin 
  (5) Informal (Free Form) Organization Structures are based on _____. 
   (A) Rules   (B) Operational Manual 
   (C) Study Guide (D) Personal Relations 
  (6) Integration function of Human Resource Management means _____. 
   (A) Integration of Company’s interest with interest of Public. 
   (B) Integration of Company’s interest with interest of Government. 
   (C) Integration of Company’s interest with other Companies. 
   (D) Integration of Company’s interest with interest of Employees. 
 
3. (A) Explain term Motivation. Discuss in detail any two (2) theories of Motivation 

from the following :    14 
  (1) McGregor’s Theory X and Theory Y 
  (2) Theory Z 
  (3) Goal Setting Theory 
    OR 
  (1) Discuss in detail, types of teams.  7 
  (2) Discuss any seven (7) Principles of effective communication. 7 
 

 (B) Multiple Choice Questions (Select suitable options from A, B, C, D as your 
answer and attempt in serial order) (any 3). 3 

  (1) Free Flow Communication system represents _____ type of 
communication. 

   (A) Centralization (B) Both (A) and (B) 
   (C) Decentralization (D) None of the above 
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  (2) A play on the stage is _____ type of Communication instrument. 
   (A) Written  (B) Verbal 
   (C) Visual  (D) Informal talks 
  (3) Retention of power is characteristics of _____ leadership. 
   (A) Autocratic Leadership (B) Constructive Leadership 
   (C) Free Rein Leadership (D) All of the above 
  (4) A Theory of Human Motivation is an article written by ______. 
   (A) A.H. Maslow (B) Jucius 
   (C) EFL Breach (D) All of the above 
  (5) Hygienic Factors are components of _____. 
   (A) Goal Setting Theory 
   (B) Theory X and Theory Y 
   (C) None of the above 
   (D) Herzberg Two Factor Theory 
 
4. (A) Define term control and discuss guiding principles of effective control system. 14 

OR 
  (1) Explain in detail types of Information Systems. 7 
  (2) Distinguish between Strategic and Operations Management. 7 
 
 (B) Multiple Choice Questions (Select suitable options from A, B, C, D as your 

answer and attempt in serial order) (any 3) 3 
  (1) DSS is _____. 
   (A) Directive Structured Standards 
   (B) Dual Standard Status 
   (C) Descriptive Startup Style 
   (D) Decision Support Systems 
  (2) Budget is a _____ type of Plan. 
   (A) Standing Plan (B) Both (A) and (B) 
   (C) None of the above (D) Single use plan 
  (3) Expense Budget shows _____. 
   (A) Revenue details (B) Non-Financial details 
   (C) Capital expense details (D) All of the above 
  (4) EIS is _____. 
   (A) Executive Information System  
   (B) Excel Innovation Style 
   (C) Extra Information System 
   (D) Exchange Information Structure 
  (5) Average duration of Strategic Management is _____. 
   (A) 1-2 years  (B) 2-4 years 
   (C) 4-5 years  (D) 5-10 years 

_________ 
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Seat No. :  _______________
  

MB-113 
March-2019 

M.Com., Sem.-I (Repeater)  

402 : Financial Management 
(Old Course) 

 
Time : 2:30 Hours]  [Max. Marks : 70 
  
1. (A)       .  14 

      
  (i)     . 7 

  (ii)   “ ”   . 7 
 
 (B)     : (  )   4 

  (1)       ? 

   (a)   

   (b)    

   (c)   
   (d)    
 
  (2)        ? 

   (a)     

   (b)    
   (c)   

   (d)    
 
  (3) _______        

 . 
   (a)   (b)   
   (c)   (d)    
 
  (4)      _______ 
   (a)    
   (b)    .  
   (c)      
   (d)    
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  (5)      ______ 

   (a)  /  
   (b)   ( )/  

   (c)   ( )/  

   (d)    
 
  (6)         ?  
   (a)    (b)    

   (c) (a)  (b)  (d)    
 
2. (A)       . 14 

      
  (i)     “H”  . 7 

  (ii)   .   7 
 

 (B)      (  )   4 

  (1)          _____  

   (a)    (b)  
   (c)    (d)    
 

  (2)       ________  

   (a)    (b)   

   (c)   (d)    
 

  (3)                
  ? 

   (a)   (b)   

   (c)    (d)    
 

  (4)     _______  . 
   (a)    (b)  
   (c)   (d)    
 

  (5) _____         . 
   (a)    (b)   

   (c)   (d)    
 

  (6)   = ________ 

   (a) /  (b)  / 

   (c)  / (d)    
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3. (A)     ?     . 14 

        

  (i)      ` 8     . 7 

      50%        : 

 1 2 3 4 5 

` 4,00,000 4,00,000 3,20,000 3,20,000 1,60,000 

   (1)       20%    . 

   (2) 10%       : 

 1 2 3 4 5 

  0.909 0.826 0.751 0.683 0.621 

            :  

   (1)     

   (2)    
 

  (ii)       ,        
           ` 1,00,00,000 .  
         .    
10% .            : 7 

    

1 16,00,000 12,00,000 8,00,000 

2 20,00,000 16,00,000 16,00,000 

3 28,00,000 8,00,000 28,00,000 

4 16,00,000 32,00,000 60,00,000 

5 8,00,000 20,00,000 16,00,000 

            ? 

   (1)    

   (2)    

   10%   ` 1       : 

 1 2 3 4 5 

  0.909 0.826 0.751 0.683 0.621 
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 (B)      (  )   3 

  (1)    ` 2,00,000     ` 40,000/- 16   . 
      

   (a) 1    (b) 3  
   (c) 5    (d)    
 

  (2)         ? 

   (a)    (b)   
   (c) (a)  (b)  (d)    
 

  (3)    _____ 

   (a)    (b)    –    
   (c)   –   (d)    
 

  (4)       ? 

   (a)    (b)    
   (c) -  (d)    
 

  (5)         ? 

   (a)   (b)   

   (c)   (d)    
 
4. (A)    .   14 

           
  (i)    . 31-3-2012          : 7 

   
(`) 

  
(`) 

   (` 10 ) 16,00,000 20   

10%    ( ` 100 ) 4,00,000 75   

14%   ( ` 100 ) 20,00,000 80   

 40,00,000  

       20% .  8%     .   
 40% . 

      : 
   (a)         . 
   (b)  ` 10,80,000     ` 18     

     .      . 
 
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  (ii)   ABC    : 7 

              ` 

  ( ` 10 ) 2,00,000 

10%   ( ` 100 ) 2,00,000 

 6,00,000 

   4,50,000 

   50,000 

  40% 

         (DOL)    (DFL) 

    (DCL)   . 
 

 (B)     : (  )   3 

  (1)             _________ . 
   (a)   (b)   
   (c)   (d)    
 

  (2)   _________     . 
   (a)    (b)   
   (c)   (d)    
 

  (3)   (NI)   ________  . 
   (a)    (b)   

   (c)    (d)   
 

  (4)   100%       ? 

   (a) Ke =   (b) Ke <  

   (c) Ke >   (d)    
 

  (5)    (Indifference Point)  EBIT      
   (a)      

   (b)     

   (c)     
   (d)    

__________ 
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M.Com., Sem.-I (Repeater)  

402 : Financial Management 
(Old Course) 

 
Time : 2:30 Hours]  [Max. Marks : 70 
  
1. (A) Explain the Modern and Traditional concept of Financial Function.  14 
     OR 
  (i) Explain briefly the objective of Financial Management. 7 
  (ii) Explain the meaning of “Maximization of profit” in the Financial 

Management.    7 
 
 (B) Choose the correct answer : (any four)  4 
  (1) The function of Finance Manager is ______ 
   (a) Procurement of Finance 
   (b) Estimate needs of Finance 
   (c) Distribution of the Finance 
   (d) All of the above 
 
  (2) Which of the following is not limitation of traditional approach of Finance 

Function ? 
   (a) Need base use of funds 
   (b) Avoidance of Finance control 
   (c) Procurement of Funds 
   (d) None of the above 
 
  (3) In _____ stage of evolution of Financial Management is includes 

Quantitative Analysis. 
   (a) Modern Phase (b) Traditional Phase 
   (c) Transitional Phase (d) None of the above 
 
  (4) The long-term objective of Financial Management is to 
   (a) Maximize earning per share 
   (b) Maximize Investment Value of the Firm 
   (c) Maximize Return of Investment  
   (d) None of the above 
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  (5) The Formula of Return on Investment is ______ 
   (a) Total investment/Net profit 
   (b) Net profit (after tax)/Total investment 
   (c) Net profit (before tax)/Total investment 
   (d) None of these 
 
  (6) During the process of Procurement of Finance _____ 
   (a) Fixed capital ratio is considered 
   (b) Working capital ratio is considered 
   (c) Both (a) & (b) 
   (d) None of the above 
 
2. (A) Explain the causes of Financial risk and business risk. 14 
     OR 
  (i) Explain the “H” Model of equity share valuation. 7 
  (ii) Explain types of Bond.   7 
 
 (B) Choose the correct answer (any four).  4 
  (1) High the discount rate, _____ the present value of the future cash flow. 
   (a) Fixed   (b) Higher 
   (c) Lower  (d) None 
 
  (2) A bond carries a specific interest called _____ 
   (a) Coupon Rate (b) Premium Rate 
   (c) Maturity Rate (d) None 
 
  (3) The value of an asset on a specific date in the future that is equivalent in 

value to a specified sum today it is called _____ 
   (a) Future value (b) Present value 
   (c) Compound value (d) None 
 
  (4) What is the relation between profitability and risk ? 
   (a) Positive  (b) Inverse 
   (c) Absence of relation (d) None 
 
  (5) Portfolio analysis begins when _____ ends. 
   (a) Rate of return (b) Security analysis 
   (c) Risk   (d) None 
 
  (6) Current yield is equal to _____ 
   (a) Interest/price (b) Annual interest/yield 
   (c) Annual interest/price (d) None 
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3. (A) What is working capital ? Explain various approaches of working capital. 14 

       OR 

  (i) Dipika Mfg. Co. considering investing in a project requiring amount ` 8 
lakhs.      7 

   Forecast for annual income after depreciation but before 50% tax is as 
follows : 

Year 1 2 3 4 5 

` 4,00,000 4,00,000 3,20,000 3,20,000 1,60,000 

   (1) Rate of depreciation 20% on cost at Straight Line method. 

   (2) Discount factor at rate of 10%. 

Year 1 2 3 4 5 

Discount Factor 0.909 0.826 0.751 0.683 0.621 

   You are required to evaluate the project according to each of the following 
method :  

   (1) Pay Back Method 

   (2) Net Present Value 

 

  (ii) Gujarat University wants to purchase one machine from mentioned three 
machines Ganga, Jamana and Saraswati each costing ` 100,00,000. An 
estimated life of each machine is 5 years. There is no scrap value. Expected 
rate of return is 10%, expected earing after depreciation and taxes for the 
three machines are as follows :  7 

Year 
Machine 

Ganga Jamna Saraswati 

1 16,00,000 12,00,000 8,00,000 

2 20,00,000 16,00,000 16,00,000 

3 28,00,000 8,00,000 28,00,000 

4 16,00,000 32,00,000 60,00,000 

5 8,00,000 20,00,000 16,00,000 

   With the help of following method, which machine would you advise to 
purchase ? 

   (1) Pay-back period 

   (2) Net present value 

   Present value of Re. 1  at 10% discount rate is as follows : 

Year 1 2 3 4 5 

Present Value 0.909 0.826 0.751 0.683 0.621 
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 (B) Choose the correct option (any three) :  3 
  (1) A project costing ` 2,00,000 and having annual cash flow of ` 40,000 for 16 

years. Its payback period is 
   (a) 1 year  (b) 3 year 
   (c) 5 year  (d) None 
 

  (2) Working capital is also known as _____ 
   (a) Circulating capital (b) Fluctuating capital 
   (c) Both (a) and (b) (d) None 
 

  (3) Cash flow means _____ 
   (a) Net profit 
   (b) Total income – Total expenses 
   (c) Cash income – Cash expenses 
   (d) None 
 

  (4) _____ is consideration in inventory model. 
   (a) Fixed Capital 
   (b) Economic Ordering Quantity 
   (c) P/v Ratio 
   (d) None 
 

  (5) _____ means distribution of capital for more acceptable proposals. 
   (a) Capital Rationing (b) Capital Negotiations 
   (c) Capital Budgeting (d) None 
 
4. (A) Explain the types of Capital Structure.  14 
    OR 
  (i) Following details relate to the Devlok Ltd. for the year ended on 31st March, 

2012      7 

Sources 
Book Value 

(`) 
Market Price 

(`) 
Equity Share Capital (each of ` 10) 16,00,000 20 per share 
10% Pref. Share Capital (each of ` 100) 4,00,000 75 per share 
14% Debentures (each of ` 100) 20,00,000 80 per Debenture 
 40,00,000  

   The expected equity dividend in the next year is 20%, which will grow at 
the rate of 8%, the tax bracket of the company is 40%. 

   Answer the following : 
   (a) Calculate the weighted average cost of capital under the market value 

weights. 
   (b) The company is planning to finance an expansion project costing  

` 10,80,000 through an issue of equity shares at ` 18 per share. 
Calculate marginal cost of capital of the company. 

OR 
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  (ii) Following details related to the ABC Ltd. 7 
 ` 
Equity Share Capital (each of `10) 2,00,000 
10% Debentures (each of ` 100) 2,00,000 
Sales 6,00,000 
Variable operating expenses 4,50,000 
Fixed operating expenses 50,000 
Taxation rate 40% 

   On the basis of these details, calculate the Degree of Operating Leverage 
(DOL), the Degree of Financial Leverage (DFL) and the Degree of 
Combined Leverage (DCL). 

 
 (B) Choose the correct answer (any three) :  3 
  (1) The level at which total operating expenses are equal to the amount of total 

interest is called 
   (a) Financial Leverage (b) Breakeven point 
   (c) Operating Leverage (d) None 
 

  (2) Preference shareholders get preference at the time of _____ 
   (a) Purchase of share (b) Payment of dividend 
   (c) Public offer (d) None 
 

  (3) Net Income (NI) approach is presented by _____. 
   (a) David Durand (b) Elli Swartz 
   (c) Modigliani & Miller (d) None 
 

  (4) Walters model suggest for 100% DP Ratio when 

   (a) Ke =   (b) Ke <  

   (c) Ke >   (d) None 
 

  (5) Indifference point of EBIT is one at which 
   (a) EPS is Zero (b) EPS is Highest 
   (c) EPS is Minimum (d) None 

__________ 
 


